

Pen#	Brd/Sex	# Head	Avg/Lbs	Total/Lbs	Price	Buyer
301F	DAIR ST LEAN	1	656	656	392.50	TI309
304B	LE ST LEAN	6	764	4,586	505.00	JG414
304C	YRLG ST YEARLING	2	1,177	2,354	300.00	TI315
307B	UT ST UTILITY	1	727	727	451.00	TI307
310B	UT ST UTILITY	5	477	2,384	632.00	TI317
311A	MXED ST MIXED	1	443	443	620.00	TI316
311B	MXED ST MIXED	3	706	2,119	581.00	JG414
314B	BABY ST BABY	1	257	257	730.00	LU308
314G	UT ST UTILITY	3	625	1,876	500.00	TI309
315A	BR ST BRITISH STR/BU	1	291	291	845.00	LU308
315B	LE ST LEAN	8	688	5,505	593.00	TI600
315X	LE ST LEAN	1	685	685	360.00	TI309
315Y	LE ST LEAN	1	640	640	467.50	TI309
317A	MXED ST MIXED	5	586	2,930	518.00	TI309
317C	MALE ST COARSE	5	882	4,412	426.00	JG416
318H	BR ST BRITISH	32	702	22,449	583.00	JG502
319A	LE ST LEAN	6	590	3,540	566.00	TI309
321D	MXED ST MIXED	3	633	1,899	563.00	TI309
322A	MALE ST COARSE	12	568	6,813	591.00	TI317
322K	YRLG ST YEARLING	2	920	1,840	330.00	TI315
400A	EX ST EXOTIC	11	606	6,663	650.00	TI618
404F	MALE ST COARSE	11	622	6,844	546.00	TI309
404K	UT ST UTILITY	1	364	364	340.00	GN306
405A	MALE ST COARSE	19	495	9,405	670.00	TI503
405B	MALE ST COARSE	10	784	7,837	485.00	JG416

WEYBURN LIVESTOCK EXCHANGE
Sales Sheet
February 16, 2026

Pen#	Brd/Sex	# Head	Avg/Lbs	Total/Lbs	Price	Buyer
407A	MALE ST COARSE	14	426	5,964	732.00	TI501
407B	MALE ST COARSE	21	705	14,811	535.00	JG416
407X	MALE ST COARSE	1	457	457	600.00	TI317
411C	BR ST BRITISH	13	502	6,528	755.00	TI620
413A	TAN ST TAN/TANB	11	652	7,176	624.00	TI415
413B	BR ST BRITISH	1	881	881	452.50	RR301
413D	RED ST RED/REDB	43	707	30,411	589.25	TI602
414A	BR ST BRITISH	27	565	15,247	671.00	TI505
414C	MALE ST COARSE	2	1,329	2,658	277.00	TI315
416A	BR ST BRITISH	37	634	23,460	626.50	TI600
419E	TAN ST TAN/TANB	4	543	2,170	688.00	TI507
425A	EX ST EXOTIC	6	645	3,868	626.00	TI600
	EX ST EXOTIC	1	669	669	626.00	RR520
	EX ST EXOTIC	1	659	659	626.00	RR520
427M	DAIR ST LEAN	1	558	558	370.00	TI316
510L	RBA ST ANGUS	77	775	59,684	539.00	JG610
	RBA ST ANGUS	1	781	781	539.00	RR520
600C	RBA ST ANGUS	33	893	29,475	480.00	TI608
600F	RED ST RED/REDB	29	637	18,465	635.00	TI604
	RED ST RED/REDB	1	610	610	635.00	RR520
602B	RWF ST RWF	1	705	705	566.00	JG414
602C	EX ST EXOTIC	24	708	16,992	586.00	JG502
602H	BLK ST BLK/BLKB	54	651	35,148	624.00	TI616
604A	RED ST RED/REDB	11	569	6,259	683.00	TI507
604D	EX ST EXOTIC	2	883	1,766	448.00	TI608
606A	GRAS ST GRASSERS	39	498	19,431	763.00	TI620
606E	BR ST BRITISH	17	780	13,268	522.00	JG414

Pen#	Brd/Sex	# Head	Avg/Lbs	Total/Lbs	Price	Buyer
606K	RWF ST RWF	5	804	4,019	514.00	JG414
608A	BLK ST BLK/BLKB	80	711	56,902	591.25	TI614
608D	BR ST BRITISH	2	961	1,921	436.50	RR301
610A	BLK ST BLK/BLKB	20	558	11,150	705.50	TI507
610B	RWF ST RWF	2	659	1,317	611.50	TI600
610K	TAN ST TAN/TANB	7	602	4,211	660.00	TI618
612B	BR ST BRITISH/STR BU	10	375	3,749	837.00	TI313
614A	EX ST EXOTIC	30	779	23,374	533.00	JG606
614B	RWF ST RWF	2	920	1,839	436.00	TI608
614K	BR ST BRITISH	6	430	2,578	755.00	TI501
616A	BLK ST BLK/BLKB	50	600	29,991	666.00	TI618
616B	TAN ST TAN/TANB	26	707	18,373	585.00	JG502
618B	RWF ST RWF	1	512	512	500.00	TI620
618E	GRAS ST GRASSERS	11	440	4,845	802.00	TI501
618F	EX ST EXOTIC	2	998	1,995	410.00	TI608
620K	RBA ST ANGUS	77	787	60,600	535.25	TI612
620S	SPEC ST SPECKLE PARK	2	736	1,472	514.00	JG414
300B	UT HF UTILITY	2	495	990	420.00	TI319
302A	BR HF BRITISH	5	312	1,559	704.00	TI318
302B	LE HF LEAN	8	679	5,431	381.00	TI417
305B	MXED HF MIXED	3	632	1,897	401.00	TI417
306A	MXED HF MIXED	1	406	406	402.50	GN306
306B	MXED HF MIXED	1	736	736	300.00	TI314
308A	LE HF LEAN	3	495	1,484	476.00	TI319
308B	LE HF LEAN	3	791	2,372	454.00	JG516

Pen#	Brd/Sex	# Head	Avg/Lbs	Total/Lbs	Price	Buyer
308D	UT HF UTILITY	2	271	542	740.00	LU308
309A	MXED HF MIXED	2	498	996	410.00	TI319
309B	UT HF UTILITY	1	735	735	294.00	LU308
312A	MXED HF MIXED	1	579	579	360.00	TI319
313A	LE HF LEAN	5	586	2,932	542.50	TI512
314D	SS HF STUNTED	3	437	1,312	365.00	LU308
316A	UT HF UTILITY	1	586	586	330.00	TI319
316C	BABY HF BABY	3	253	759	812.50	LU308
316X	UT HF UTILITY	1	685	685	210.00	GN306
318S	SPEC HF SPECKLED	2	681	1,362	490.00	TI417
320F	SS HF STUNTED	1	763	763	310.00	TI314
320G	SPEC HF SPECKLE PARK	2	797	1,593	455.00	JG321
320K	UT HF UTILITY	1	343	343	360.00	GN306
411A	BLKA HF BLK BREEDING	55	679	37,343	548.00	JG518
414B	RBA HF ANGUS	7	902	6,313	436.00	MA421
417A	EX HF EXOTIC	8	609	4,872	586.00	JG506
417K	YRLG HF YEARLING	1	927	927	300.00	TI310
417X	EX HF EXOTIC	1	601	601	449.00	TI319
418A	BLK HF BLK/BLKB	16	705	11,277	521.00	JG510
418B	RWF HF RWF	3	716	2,149	499.00	TI314
418K	TAN HF TAN/TANB	7	608	4,253	585.00	JG514
419B	REDA HF RED BREEDING	19	677	12,855	545.00	RR420
420A	RED HF RED/REDB	19	572	10,870	600.00	TI504
421A	EX HF EXOTIC	6	640	3,840	553.00	TI411
421D	MXED HF MIXED	1	741	741	451.00	TI413

Pen#	Brd/Sex			# Head	Avg/Lbs	Total/Lbs	Price	Buyer
422A	EX	HF	EXOTIC	1	570	570	531.00	TI512
422B	EX	HF	EXOTIC	24	778	18,677	483.00	JG516
423D	BLKA	HF	BLK BREEDING	6	754	4,522	517.00	MA421
423E	RED	HF	RED/REDB	6	690	4,142	526.00	TI413
423S	SPEC	HF	SPECKLED	4	531	2,122	500.00	TI319
424A	BR	HF	BRITISH	26	697	18,131	508.50	TI413
427C	REDA	HF	RED BREEDING	19	737	14,003	517.00	MA421
501A	BR	HF	BRITISH	10	417	4,170	660.00	TI418
501C	RBA	HF	ANGUS	35	797	27,887	477.00	JG510
502A	TAN	HF	TAN/TANB	24	650	15,596	555.00	TI411
502B	GRAS	HF	GRASSERS	15	435	6,522	659.00	TI418
502D	EX	HF	EXOTIC	4	884	3,537	377.00	TI320
503A	BLK	HF	BLK/BLKB	26	553	14,372	606.00	TI504
503B	RWF	HF	RWF	2	635	1,270	476.00	TI417
503D	BR	HF	BRITISH	11	786	8,648	455.50	JG510
504A	BR	HF	BRITISH	21	363	7,631	660.00	TI318
504K	BLK	HF	BLK/BLKB	37	644	23,814	553.50	TI508
504X	BR	HF	BRITISH	1	356	356	292.50	GN306
505A	GRAS	HF	GRASSERS	47	498	23,410	645.00	TI504
505C	YRLG	HF	YEARLING	1	1,154	1,154	354.00	TI310
505E	RED	HF	RED/REDB	19	632	12,002	572.00	TI508
	RED	HF	RED/REDB	1	607	607	572.00	RR520
506A	BR	HF	BRITISH	46	572	26,332	580.50	TI512
508A	BR	HF	BRITISH	30	631	18,920	551.00	JG514
508K	RWF	HF	RWF	1	420	420	457.50	TI318
510B	BR	HF	BRITISH	18	502	9,038	617.00	TI504

Pen#	Brd/Sex	# Head	Avg/Lbs	Total/Lbs	Price	Buyer
510D	YRLG HF YEARLING	1	964	964	350.00	TI310
512A	BLK HF BLK/BLKB	48	600	28,808	582.00	JG506
512B	TAN HF TAN/TANB	22	703	15,461	522.50	TI411
512D	RWF HF RWF	4	567	2,269	555.00	TI319
514A	TAN HF TAN/TANB	3	560	1,680	543.00	TI319
514B	BR HF BRITISH	3	861	2,582	426.00	JG321
514D	RWF HF RWF	3	497	1,491	582.00	TI319
514E	EX HF EXOTIC	16	711	11,376	521.00	JG516
520	BR HF BRITISH	1	534	534	382.50	TI319

Total Head...: 1,686
Total Steers.: 956
Total Heifers: 730